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Time : 2 Hours | [ Maximum Marks : 40

Note : Allquestions are compulsory and carry marks as indicated against each question.

1. Write True or False for the following statements (Write the answer in your
answer-book) : 1x10=10

(a) COM represents parallel port.

(b) Printer is usually connected to serial port.

(c) LPT is a parallel port.

(d) Mouse is an output device.

(e) Supercomputer is a first-generation computer.

(f) Hybrid computer refers to only analog computer.

(g) 8 bits make 1 byte.

(h) Dot-matrix printer is an impact printer.

(i) LAN is used to connect a computer with local network.

() COM connector is a 9-pin connector.

2. Answer the following questions briefly : 2x6=12
(a) List down the steps of assembling a computer.
(b) What is device controller?
(c) What is Internet? Explain IP and DNS.
(d) What are the steps to clean computer virus?
(e) What is network card? Explain its functionality.

(f) Explain the formatting of a disk. What are four steps to make a hard disk
drive usable?

616/VOC/951 2



3. Differentiate between the following : 2x3=6
(a) Digital computer and Analog computer
(b) Assembly language and Machine language

(c) File virus and Macro virus

4. Write down the possible reasons for the following problems in computer : 1x6=6
(a) The printer is not printing
(b) Divide error within windows
(c) CD-ROM drive is not working
(d) ‘Invalid page fault’ error message
(e) Illegal operations—run-time errors

(f) ‘Non-systems disk’ error message

5. Write short notes on the following : 2x3=6
(a) General Protection Failure (GPF)
(b) Preventive Maintenance and Checklist

(c) Computer Monitor Quality Assessment

* ok ok
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